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1. g e @ 7 iferefl wgerss Y HEAT Td IR fifa | 2

What is thermoplastic ? Write the Structure and uses of polythene polymers.

3. el e, R eiver e e + st g |

Explain the differ_ences among cost jron, wrought iron and steel].

4. I % WEdA & o R |

Write the laws of reflection of light.

5. ST % HE O T § 7 (N =R) r
What are basic properties of light ? (Any Four) '

6. ﬁww% ? 9l 7 g fore Wb v s 2 2

What is grafting ? How it is done in plants ?

7. AT BIRIHT T 7w ot iy |

Describe briefly the structure of a neuron or nerve cell.

8. EEYUIAI AR ? T IETEW Wi THTRC |

What is polyembryony ? EXplain it with examples.

qr -2

1. = 317333* IR E Ad zﬁfﬁm :
34, 49, 50, 34, 21, 27, 50, 34, 12,43
Find median of the following data :
34, 49, 50, 34, 21, 27, 50, 34,12,43
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29 1 2
5°7° 1
29 7
Find the L.C.M. of§,7,1—3
3. wﬁl.Sa=0.03bﬁE::WmW?ﬁﬁml 2
b-a
If 1.5 a=0.03b, then find the value of bta
4. AF 52 TW A A 2 0 FgewAn P 91 § 1 2R 3 e or A T 3 S 2 B s
R ? ' 2
Two cards are drawn at random from a wel] shuffled pack of 52 cards. Find the probability
that both are red or queens.
5. aRAAED _gg5.2+0 <$ra 2
' a+4b a+ 2p P HH Aid |
2a+b at+b

If a+4b=3’ then find the value of a+2b"

6. mﬁ@a@?l,lsoﬁaﬁaaﬂtmw%m@aﬁa | 307 vt fpm I
o<t ? 2

Bhavesh bought a watch for ¥ 1,150 and sold it at a gain of 5%. At what price did he sell
the watch ?

i - 3
1. HRH HiE 9n fmand fake | 2

Write any four features of computer.

2. wiReaw 6 F7d § 7 369 TR F T Rifed | 2

What is Software ? Write the names of Software.

3. "R FH9l % Hid 9r v R | 2

Write any four uses of Solar energy.

4. B e da =1 e fifad | 2
Write the principle of Photo Voltaic Cell. |
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5. Ja-fafa @R faked | 2
Write threats of Biodiversity-
6. mmw%?ﬁﬁﬂﬁ%mw' 2
What is non-renewable energy ? Write its any two sources.
7. ﬁﬂﬁwﬁ%mﬁmmﬂmmm%uﬁaﬂ) | 2
| Write the names of Toxic elements which are responsible for water pollution. (Any Four)
g $-deirerich @ iy & i it 1 fored | 2
Write the advantages of e-technology in agriculture field.
Qus -2
_ Section — 2
(3 <Y vreg Wi — 60, 3 — 04)
qawt
9,  JeTEw Higa Mol adl fAEaTe i T | 4
[llustrate with examples roasting and calcination.
10. Rt 3 s % fram Rifae e @aged STy 1§ F1d AT | 4
Write the laws of combination of resistances and obtain formulae for equivalent resistance.
11, g o i e o e | R R R
A ¥ o g 4 A, e I i R 12 diee @ @ % d e g Hi
e &t o HIFATC | | 4
Define intensity of electric field. What is its unit ?
If the distance between two plates is 4 c.m. and potential difference between them is
12 volt, calculate the intensity of electric field between plates.
12, e G0 % C, T C, Tohl I A FaRT | 4
Differentiate between C; and C, cycles of carbon-fixation.
13. W=e & quTa faw &1 9o hifi | 4
Describe the Mendel’s laws of inheritance.
?'ri —
. 04

Scanned by CamScanner



% The Vision

LT | CGM - 18

T - 2 |

7 M 3 N s o YgA 916t BTAT hl G&AT hul: 4 3 % a9 # 2 13 100 ¥ wftre o
e M 3 e 2§ i Hia N ¥ ol 6 de § HiE TG T aa R, @ wft
W?:Sﬁm%lmNﬁmﬁﬁﬁ@"-m?? - | '
Number of students studying in college M and N are in the ratio 4 : 3 respectively. If 100
more students join the college M and there isno change in the number of students of college
N, then the respective ratio become 7 : 5. What is the number of students in college N ?

4

g. Tt tten & u feremefi ) Pt 540 376 1w g3 Rl Pt Shm A geeva & gt T R 1A
Farsd fora forwa 3 3o formefi 3 108 o7 e 63 | 4

The following pie chart shows the marks obtained by a student in an examination who
scored 540 marks in all. Find the subject in which the student scored 108 marks.

st
English

Mathematics

Science

9. Ftd EATEMATA R |
321 x 452
T I T A st g h | 4
Solve : 321 x 452
Using Urdhva Triyagbhyam and check the answer by Bijank.

- 3
9. 3-<urer 1 I B ? EwEEA | | 4

What do you mean by e-chaupal ? Explain.

10. PR F IR FAYE AT IR 3y feargdi & T fafad | 4

Write the names of four input and four output devices of computer.
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11, Share $u7 50 gd & 7 76 2 Iaem ARy
What do you mean by fossil fuel ? Write its tw, Sxainples 4
12. LPGRNE ? 38 3wt foran e 7 a
What is LPG ? How it is obtained ?
13, wra # Sa-fafyyar & d3esiar &1 w1 aofd SR | 4
Explain the Hot-spots of Biodiversity in India.
QU -3
Section - 3
(ITR 1 vrag 1 — 100 37 — 08)
-1
14. ite v o Srawgt § 21 arelt frarstt g i | 8
Describe the reaction occurring in blast furnace during extraction of Iron.
15. 37 Jreteh F1 R 7 N-T7 STits Y g wa wrifafy wwem | 8
What is semi-conductor ? Explain the construction and working of a p-n diode.
16. HFE & ¥EEATT H1 G T FHifdw | 8
Describe the human respiratory organs with the help of diagram.
| - 2
10. T g | 7 U WAt § S e oA B saflrd § | S1gsen w mea 80 R | afe 20 Ry

11.

W% Te § gt A 2 IR Fedieh 08 i 2 | fenifor R wmen 2 anf wan mea M, @)
el ITed 3 T AT M % & T 3T F1d Hife | 3

A sequence consist of 7 terms arranged in descending order. The mean valué of the
sequence is 80. If 20 is added to each term and each term is divided by 2 to get new mean
as M, then find the difference between M and original mean.

foreft 7t 3 weh @ fopm W ) fargait P s R FI AR g QR 1 R T PAR % 16 62 40
fire s gt 2 | T T 12 902 | P @ Q T I II9E N FHA R I WA R RA P
T 9 | ferd1 o = 7 8

On a river, ‘Q is midpoint between two points P and R on the same bank of the river, A
boat can go from P to R in 16 hours 40 minutes. It can go and return back from P to Qin
12 hours. How long would it take to go from Rto P ?
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14. mma%mw|mwa;@mmm. 3

Mention the effect of Solid Waste. Explaijn the control measure of itg management.
15 T STV 1 ] 7 5 BT, T e PRI 35 It B 0 By 8

What is Nuclear pollution ? Describe its reasons. cffects and control measures.
16. HHE a1 F=ftat | wferequt w1 sofa HIf | 8

Describe the Man and Wild life conflicts.

g — 4
Section — 4 _
(3T <Y ¥1s3 Fiw - 125, 37 = 10)
(38 @ve | wm-02 A5 02 w9 31erE/ OR & w4 § fa s |
el @t 3 @ g 1 IR A )

| -2 .
12. mmﬁwﬁw'm%aﬁ?ﬁAWBﬁWﬁ%% a7 d fafda uf¥

(ﬁgtﬁ)a&h%naﬁmmmm@@wﬁ%mml 10

ggINT hiRUR IThIGH!
IRATE 7000121612

questions :

fre/District A | Re/District B
®R @F/Core area | 1995 | 1996 | 1995 1996
fawga/Electricity 815.2 | 1054.2 | 2065.8 | 2365.1
W™H/Chemical 389.5 | 476.7| 7453 | 9864
d9/Thermal 632.4 | 565.9 | 1232.7 | 10263
"lYSolar 468.1 | 589.6 | 1363.5 17921
JfRTIUNuclear 617.9 | 803.1 | 1674.3 | 21821
A/ Total 12923.1 | 3489.5 | 7081.6 | 8352.0

) 1995 H g1 T 1996 | 3 fedt A 3 B 3 e o e Rt whira s gan ¢

By approximately what percent was the total investment in

more in 1996 as compared to 1995 ?

the two districts A and B
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(if) 1995 RGN H 1996 F e oo a9 8y i ey o 3 Pt 35 v Frgama fra R 7

What is ratio of differenc fi o~ . )
in 1996 com ll t:rleg9gs?° INVestment In District-A on electrical & thermal areas

(iii) 1995 3 1996 3 R4 B % F1 130 3t arst & Roremt A & ot Frdvr 1 o P
T o1 7

Approximately how many times was the total investment in 1995 and 1996 in
District-B was that of total investment of District-A in the same year ?
(v) R R B A o Fraw 1997 4 3o+t € 9fg 20 1 qurtar & Raht 1995 @ 1996 e gt
- o, & forem B & 1997 % 5 P wimp e @ 2

If the total investment in district-B shows the same rate of increase in 1997, as it had
shown from 1995 to 1996. What approximately would be the total investment in B

in 1997 2
UF/OR
Tiftra ® ARIME * Thre gl |
Write the contribution of Aryabhatta in Mathematics.
WUg - 5§
Section — 5

, @R 6 visg €A1 - 175, 3® — 15)
(38 Tug ¥ ¥RT-01 T& 03 | HATER FA 04 T3 J2E1/OR * wa | 23 swo |
FadiH A 1 g AW 3 WA 1-1 T IS AFEAR R 1)

T - 1
17.  SehTYI-<Hgd YT 41 8 ? YehIaI-<igd ST & fram ferfau aen smgmedia wftertor, 2eeht smaf
Td G ! THSTEY | ThTe Id T9TE & 3931 firfew | 15

What is photo-electric effect ? Write the laws of photo-electric effect and explain Einstein
equation, threshold frequency and work function. Write the uses of photo-electric effect.

JYa/OR
iR fa ) TEa @ AHd g6 Y TE U Srifatt Hr auiq Hifv |
With the help of labelled diagram, describe the structure and working of human heart.

qamr-3

17. g Senfivehl & 319 o1 gugrd & ¢ AT WRd 369 AEH T v Hif | 15
What do you mean by Information Technology ? Describe the role of Information
Technology in rural India.

FAYA/OR
e feramer d9-farfeeran g 2, wwemsd |

India is a Mega-diversity Natior, explain.
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